e - Funktionen Aufgabe 123

Erganzen Sie die Wertetabelle flir den Graphen:

y =¢e+e™
X -1 -2 oder 2
y 3,1 715
1
y=fiy=el+e™=--+e=04+2,7 = 3,1 gerundet
e

fxy = 7,5 eingesetzt :
7,5=e+e*]|-7,5
e*+e>-75=0] *e
e + & * e*- 7,5 = 0

e +1-7,5e=0



Substitution:

=2z
z2-7,52+1=0
p, q Formel:
p=-7,5q=1

-7,5 -75
- + (
2 2

3,75 +./(3,75)2 - 1

Z12 = 3,75 + \/ﬁ

)21

Z12 =

Z1,2

z12, = 3,75 £ 3,61
Ricksubstituiert :

e* = 3,75 + 3,61
Logarithmiert :

Ine* =1In 3,75 + 3,61

x =In (3,75 +3,61)

x1 =1In (3,75 + 3,61) =In 7,36 = 2 gerundet

x2 =1n (3,75 -3,61) =1In 0,14 = - 2 gerundet



